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Question 1
590960 dMLsdsMmeng 39453l MmomMge §930 J399sbsl oMM EABoxwegdol 93MM3ven
LobodsBNE™mIo?

Select one:
a. 8
b.1
c. 3
d. 2

Question 2
MHMmEOoL s by dmgfgms bgwo Fgmsbbdgdsl ,,930™ 3538005 s BodsMmM39gwMml FmMol
35MEBO1OMBOLS O 1565FIOMIMdOL Fglobgd"?

Select one:

a. 1992 §geb 3m3963539630.
b. 1996 §gwb dlingddmeado;
C. 1998 figeb 35Mm0%do;

d. 2003 fgeob @obsdmblo;

Question 3
300 0boosE0z300 dg0ddbs ,LodsOmzgarmdo dmIbEG 3mbxE0dEMb ©s353d0MHGOMWO BoJEHYdOL
903960 ©3M30©9d9w0 LogOMSdMGobm dolos™?

Select one:

a. 93mM356MsdgbEHoL dogM;

b. 936m3mdobool dogH;

C. 9360™3538060L LadFml doge;
d. 2596mb dog6.

Question 4
BS3MMZW0wmsh MMmdgeo Lobgwdfogm sGob g3Gm3s3d06M0bL fgzdo?

Select one:
a. 0MHsbos;
b. s¢ds6gmo;
C. LyMdgmo;
d. 939035005.
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Question 5
39 EIORT0 49593d 930™353906L Bmgdeol 3Ggdos 2012 Fqls?

Select one:

a. goHozoL sMado.

b. 93mbmdozol wstado;
C. 9d3000Md0L sMyado;

Question 6
GHMEOob 500603690 93MM30L ©g?

Select one:
a. 9 dsobo
b. 5 s3®owo
C. 5 dsobo

d. 2 ogeobo

Question 7
356350l 298308 BoMAWgdT0 BobsBLMOO EobTsMgdol olsbsfiorgds Fsdmyseods:

Select one:

a. 930™m30L s9tmY30009d9 Lobgwdfoxzmms Msbs9gymdMmMds 1948 farol 20 0gzbobl
b. 93630l MLsgOEPbMgdOLS S M865HMIMBOL MAYEOBsgos 1948 ficwol 15 dsobls
C. 930b6m38031600 45630050900L sbmEos30s 1948 fiewol 17 oGl

d. 936:m30L 936m303MH0 06599OMIMBOL MmMYB0Bszos 1948 ferol s3Gowwdo

Question 8
1951 ol 3om0Bol bgardg3tremangdsl bgwo dmsfig®al:

Select one:

a. LOgMIbYI0, 4gMBsb0s, 0GOS, BIWA0s, BoIMHWBEIdO s WMJigbdmeyo;

b. Lsg®abagmo, 3gMdsbos, OO dMOEBIMO, BY0s, o MHWBIdO s dugbd-GYO;
C. 0@owos, 539, Lox®mbygmo, 3gMdsbos, s dYWYOs;

d. 6m®a39809, 93909m0, 0bEsBEOs, 839035005 S WObEYEIEg0bO.

Question 9
960560 930M3w0 5dGHoL dsesdo dglizeols MsMOos:

Select one:

a. 1962 §geo
b. 1977 §gawo
¢. 1999 §gwo



Ty

d. 1987 {igewo

Question 10
5L 2MEolbdmdEs 1965 fierol Jgefiydol globgd bgawdgzHgds?

Select one:
a. 153039 A99MM056gBOLIMZOL JMM0BbO LEHMWIEHWEOOL Tgdabsls;
b. 3060LEHOMS LodFmbo s 9g3OM3wme LadFml FggMmgdSUL.

C. mM0 93MHM3Yo MMYB0BIFOOL F99MH0bgdN;



